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10.

INSTRUCTIONS

Answer all questions.

All questions carry equal mavks.

Only one answer is 1o be given for cach question.
if more than one answers are marked, it would
be freated as wrong answer.

Each question has four alternative responses
marked serially as 1, 2, 3, 4. You have to darken
the comect answer.

‘There will be.no negative marking for wrong
answer. :

The candidate should ensure that Roll Number,
Subject Code and Serics Code on the Question
Paper Booklet and Answer Sheet must be same
after opening the cnvelopes. In case they are
different, a candidale must obtain another
Question Paper of the samc sories. Candidate
himself shalli be responsible for cnsuring this.
Mobile Phone or any other clectronic gadget in
the examination hall is strictly prohibited. A
candidate found with any of such objectionable
material with him/her will be strictly dealt as per
rules.

The candidate will be allowed io carty the carbon
print-out of OMR Response Sheel with them on
conclusion of the cxamination.

If there is any sort of ambiguity/mistake cither .
of printing or factual nature then out of Hindi

and English Version of the question, the English

Version will be treated as standard.

Waraing : Tf a candidate is found copying or if
any unautherised material is found in
his/her possession, FLR. would be
lodged against him/her in the Police
Station and he/she would liable to be
prosecuted under Section 3 of the
R PE. (Prevention of Unfairmeans)
Act, 1992, Commission may also
debar him/her permanently from all
fature  cxaminations of the
Commission.
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1 The energy used to promote a bi'ochemical process is acquired from the —
(1) replacement of one set of covalent bond by another set
(2) replacement of covalent bond by ionic bonds
- (3) formation of hydrogen bonds

(4) breaking of hydrogen bonds

T - T g $ g g A w3 -
(1) weddish aEY & UF Ve & W ¥ ¥ yfaen g/

@) ugﬁﬁﬁaﬁa%mﬁmaﬁeﬁ%mmgm'

() wEd-a & Fetw g

(4) TSN FEH B iH T

2 In a spontaneous reaction, the free energy of a system —
(1) decreases |
(2) increases
(3) becomes zero

(4) remains unchanged

wF @ AtfEm § ww oA w ge Sl -
1) wehd

@) @t

@) YA

@) erftafed =l R
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2 R LTI T suruCturaily most similar to a molecule of —
(1) Amino acid (2) Fatty acid
(3) DNA nucleotide (4) RNA nucleotide

ATP 31 TF o1 TerTenss &9 ¥ g0 a1 T arr & —
(1) s sver & (2) = o B
(3) DNA =jferiere 3 (4) RNA frriers 3

4 Which.of the following forms part of a coenzyme ?
(1) Lipase (2) Lysine
3) .Vltamin B, 4) zﬁ
frfefes § & w5 geosmy @ am TR 2
(1) st - (2) <EEN
(@) foerfi o, @ o s

S Which of the following is'part of mitosis in the cells of seed plants ?

(1) Centrioles .2 Asters
(3)  Spindles (4) Cleavage furrows
ﬁqi%rﬁaaﬁ@a%ﬂuﬁﬁmqﬂﬂﬂﬁmﬁﬂmmw%?
M w0 e ()
(B) g (4) Tt - @
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Consider the following statements :
(A) In meiosis, the chromosomes are replicated during interphase

(B) The meiotic process by which homologues are paired during
Prophase-1 is called Chiasma

(C) In Metaphase-1 of Meiosis-, homologous chromosomes line up as
pairs on metaphase plate and kinetochore microtubules extend from

each centromere in both directions towards the poles

(D) In Metéphase-H of Meiosis-II the chromosomes line up one by one on
the metaphase plate and kinetochore microtubules extend from each

centromere in both directions towards the poles

Which of the above statements are true ?

(1) (C) and (D) @ (A)and (O)

(3) (A) and (D) @) (A)and (B)

Frafafag wa = faar wifa ¢ |

(A) sk faemer A ot @ ST sragEen & A &

B) g fomer Wi, e g G ToRg e - 18 g @
¥ el (FTEUSAT) HEem € |

(C) AT ﬁﬂm—lﬁum@n—lﬁwWﬂWmm
7 & T § HAR T § A FEIB GRS ek FHA d
gﬁiaﬁaﬁtaﬁr&sﬁaﬁﬁﬁmﬁr%l

(D) g fawror-11 =) ez Hﬁwwnmmmmm
FAX T ¥ U FERISR G TAE FeriRR ¥ Al w S QN
femmatt # e T |

SR FEA H Y A Y A F 2
m a0 @ WO
3y A3IDO @ @WI®m
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7 The enzymes involved in viral replication are synthesized —
(1) Onmn ;he viral ribosomes
(2) On the interior surface of the viral membrane
(3) On the interior surface of the viral coat

(4) By the host cell
foramopes gt 3q s T 1 G S ¥ —
(1) foramos e W |

) ﬁﬂmﬁﬁqﬁ’fﬁmﬁmww

FORRC L R e ep—

(4) R HifE g

8  The function of lysozyme of T, bacteﬁophage, is to digest the bacterial :

(1)  Cell Wall
(2) Cell membrane

(3) Enzymes

4) Glycogen

T, Sherysich % evseore e o 8, e —
(1) aﬁf‘sm fafd =0 =T

(2) wiE faoet | w=rn

() TR H wEE

(4 wTESE o= _
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9 Source of energy used in formation of .a peptide bond is —
(1} Energy in the aminoacyl bond

(2) ATP

(3) GTP

(4) Energy in coenzyme-A

Yers el & Proafa § vge ol o e 9§ —

(1) SHIFTCaE sTeR i Sl |

{2) ATP

(3) GTP

(4) TeT=WEH-A T Sl

10 - Proteins that are to be used outside the cell, are synthesized —
(1) In the mitochondria
(2) On the rough endoplasmic reticulurﬁ
(3) On the smooth endoplasmic reticulum

(4) On free ribosomes

3 S, forens i e & e A , o < e
(1) wrrgE H |

(2) T oFa WeEedl Sietsl ®

3) fasl s wgedt ferel W

(4) T TR W
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12

13
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Genes that are inactive for long period of time tend to be bonded to —
(1) Each other (2) Methyl groups
(3) Actin and myosin (4) The nucleolus

A T o A Tty R T §,  syafua 9 3g vga B € -
(1) TH-TW I | @) fhaRa wE @
(3) UfRA 9 "EifaT @ @) —gfeaed |

Regulation of transcription by attenuation can occur in —

(1) Bacteria (2) Yeast

(3) Higher Plants (4) Virus
&l g Sore & w1 Wl ¥ —
(1) Semget & (2) WA=H

(3) =2 WSH H (4) Toarogei §

A signal that is associated with plant response against herbivores and certain

pathogens is —
(1) Jasmonate (2) Brassinosteroid

(3) Gibberellic acid (G;&) (4) Indole Acetic Acid (IAA)
m@mmamwm%mmm%w
(i) e Q) AR

@) fomfees om (1Y) @ o Ufefew ww (IETT)
AN (Contd...

o




i4  Which one of the [oliuwuly does ol aci a5 5eCond messenger during

signalling process ?
(1) Cyclic Adenosine Mono Phosphate (cAMP)
(2) Diacyl Glycerol (DAG)
 (3) Calcium ions (Ca*?)
(4) Magnesium ions (Mg*?)
fratataa § o ®19 Wt wear # i SRuaes w1 %@ Tl Har ?
(1) afwes wfeifas 9 wiehe (CAMP)
) =§ dEe R (DAG)
(3) WeRiem S (Ca*?)
(4) WRRmEm s (Mg

15 Signal for seed germination originates from embryo in the form of —
(1) Auxin
() Gibberellins
(3) Cytokinin
(4) Abscisic acid |
%, i s & fevg b v 0 2
) aaﬁ%mq % &7 H
@) faeifem & wu#
() SRR ® w9 H
(4 vafyfes o7 & ¥ ¥
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(1) It consists of cells and proteins that are always present and are ready

to fight and mobilize at the site of infection.
(2) Its components adapt to the presence of infectious agent by activating.
(3) Tt is mediated by antibodies produced by B-lymphocyte.
(4) Tt is mediated by T-lymphocyte
TS AeEEE ® e § o w § 2
(1) Frefed @ VAT S e o e € U g T W e e
@ g @ fa $m e |
) Mﬁmmmﬁmﬁﬁmmaﬁﬁﬁaaﬁ%a
(3) Tt B-wfiwy SR e e g HoReE A
@) T T S e Wil g A A

17  Unequal or asymmetric cell division determines cell fate, except in formation
of which of the following ?

(1) Generative cell in pollen grains -
(2) Root hairs
(3) Stomata

(4) Sporogenous tlssue 1n anthers

ﬁmﬁ%m%ﬁﬁw%mﬁaﬁwmmnﬁﬂaﬁﬁmﬁwaﬁﬁm
e ® i s § 2

1) T e B
@ @™
(3) TH

(4) TET-HI H ST Fih
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18 Match the animal group with its cleaving embryo

Animal group Cleaving embryo
(A) Most invertebrates (i)  Syncytial blastoderm, then cellular
blastoderm
(B) Insects (ii) Blastula
(C) Amphibians (iii) Morula, then Blastocyst

(D) Fish, Reptiles and Birds  (iv) Morula, then Blastula

(E) Mamméls : (v) Blastodisc

@w ® © .o 6
) @ @ ™ i)
@ @ ) @ W

(3) (i) (iid) ) (iv) @)
@ O Gv) - (i) (i) )
Wl WY e SHe fagera U W e wie —

Wit W . Fefw o
(A) sifra SHATHI () fotasiae e, R =it
| R
®) W i)
(C) wpifern | (i) HAream, fm ke
(D) wefer, whad o e (iv) + vireen, RR swreen
® wH v e
w ® © o @®
(1) () ) (iv) ©) (i)
@ 0 (ii) @ ) W)

3 @) (iii) V) () @
@ ™ () (i) (if) ()
223 / LIFESCL A] i1 EHIIHRI (Contd...
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In Drosophila which set of genes establish anterior ana posterior SIgUalingg

centre during patterning ?

(1) Zerknult, Decapentaplegic, Talloid, Twist
(2) Engrailed, Wingless, Cactus, Torpedo
(3) Bicoid, Hunchback, Nanos, Caudal

@) Gurken, Torso, Torsolike, Twist

Srifiren & wirem § S 1 SN W WE S T I T g Tt

I ¥ ?

() e, IeRRts, Sge, o
) .Qﬂ‘}i’_&’, ﬁn@h Faey, U

(3) «EHIES, ﬁaﬁ; ¥y, wiea

@) T, 3, S, Rore

Which of the following gene is résponsible for transformation of sepals

into bracts in Arabidopsis ?
(1) Apetala - 1 - (2) Apetala - 2
(3) Apetala - 3 (4) Agamous

spfrefag i fetatag ¥ ¥ B W ST TR ® geusl § T HE
% foe sawrt § 2 '

(1) e - 1 (2) 3Weem - 2

(3) e - 3 (4) =S
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21 The receptor that detects photoperiod in plants is a :

(1)
)]
| ()
5 (4)

(D
@
)

i

(4)

)
@
€)
4)

Sensory cell
Sensory organelle
Protein molecule

Gradient of potassium ions

great T SaeIeadr i SAfaE H e TR B § —

Hat it
qagl ISR
thzﬂ#sig,.

UrfirEm SAE = yeon

22 To develop root pressure, energy is used to —

Actively transport minerals into root cells
Evaporate water in the leaves
Condense water in the xylem

Create suction in the xylem

wmﬁmﬁamﬁ%ﬁﬁ,w_mwﬂﬂmw%—

(D
(2)
®)

“4)

aﬁﬁf%q&raﬁﬁm@ffﬁmﬁw%ﬁ
il & S| & e 2
WA & wigeH ¥ 99 'Y

STged H N0 ITA FH 2
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23  Match List T with List IT.and choose the correct answer using the codes

given below the lists :
List I (Alkaloid)

ti) Codeine

(ii) Scopolamine

(iii) Vinblastine

(iv) Sanguinarine

(v) Cocaine

Codes : :

O OO 66
@ OO @,
G O@ @ o),
@ O@ @

(iii} (b),
(i) (2),
(iii) (e),
(iii) (@),

(a)
(b)
(©)
(d)

©

(iv) (a),
(iv} (o),
(iv) (),
(iv) (),

List IT (Plant source)
Catharanthus roseus
Papaver somniferum
Erythroxylon coca
Hyoscyamus niger

Eschscholzia californica

W) (©)
W) ©
(v) (d)
) ®

aﬁlaw@ﬂﬁgﬁfﬂaﬂﬁﬁwqﬁﬁ%ﬁ%ﬁﬁa@ﬁmﬁﬂﬁ

I T =9 FeE

gl 1 (aeheias)
(i e
(i) Eﬁ’lﬁ‘fﬁ-
(iii) - faasenied
(iv) T
(v) A
T:lg?::
o OO @ e,
@ OO, o,
3 0@ @),
@ @ @ e

© 223/ LIFESCL A]

(i) (),
(iif) (2),
(iii) (&)
(iif) (o),

1

[ %

(a)
(b)
©)
()
(e)

(iv) (@),
(iv) (e),
(iv) ()
(iv) (c),

ot 1 (T e
a?‘v??mz?ﬁ!w-
Foar GTERT

st

BT MR
Ferfewa BITRAH

® ©
™) ©
© @
© ©)
UGN [Contd...
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24

25

26

Which among the following is a 'systemic acquired resistance' inducing

compound ?
(1) Jasmonic acid (2) Mannitol
(3) Inositol (4) Salicylic acid

Frofefad § U =5 @ A ‘S suif wiRvsa’ & ARnfe sw=a ¥ 2
(1) St o ) e

3) TR (4) ueaEias v

In which part of the brain the respiratory centre is found ?
(1) Hypothalamus (2) Telencephalon

(3) Cerebellum ' (4) Meduila Oblongata
Aferes & foF T § vEEA B ORI S € 2
(1) TENIEH () TamtaE

() Wewm (4) Ty e

With relference.to thermoregulation higher mammals are —
(1) - endothermic (2) poikilothermic

(3) ectothermic I. (4) aestivating

a fEee & vy § I o i § -

(1) orardt | : (2) foramardt

(3) afgam (4) wwfEa )

223/ LIFESCLA 5 Cone-
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27 The yellow spot of retina is called —

(1) Canalis centralis (2) Corpus Lutea
(3) Fovea centralis (4) Macula Lutea
Y a1 e forg e © —

() St dmzferd | @) i gfen
o e @ e

28 Consider the following statements regafding 'Silerit Mutation'.
(A) Due to degeneracy the amino acid will not be altered
(B) _Results in polymorphism of organisms
(C) Involves the second nucleotide of the triplet codon

(D) Contributes t0 variability in the DNA sequence of individuals of a

species
Which of the above statements are trué ?
1) (&), (B) and (C) @ @), (C) and (D)
3) (A), (C) and (D) @ W), ® and (D)
‘mmﬁﬂ’ﬁu@ﬁﬁmmﬁmﬁmaﬁa:
(1) orauEa & Fr S at feafad & A

() e e i o @

3) fﬁﬁ;ﬁ?%%ﬂﬁz@ﬁﬁ\m@%wﬁﬂﬂ@%%

.(4) ﬁﬁ%m&tﬁ%@.@maﬁ%ﬁaﬁqﬁﬂﬁmﬁﬁw?ﬁ%l
Sqiam QA IR Y e v ¥ T

1) (A, B) T ©) ) _(B)’ (C) wd (D)

3) (A), ()T D) @ (A), B D)

223 / LIFESCLA 16 R (Conea-
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29  Robertsonian translocation results in :
(1) Bridge-breakage-fusion-bridge cycle
(2) Ring chromosomes
(3) Laggards
(4) ' Reduction of the chromosome number

AR AR 1 IR0 B S
(1) foo-SSe-wEm-fas =

@ o =rEE

(@) TE

(4) T Wem

30 The basic minimal structure of a transposable element consists of :
(1) The site for origin of replication and the inverted repeat sequences
(2) Gene for enzyme transposase and the inverted repeat sequences
(3) The inverted repeat sequence

(4) Gene for enzyme transposase, site for origin of replication and the

inverted repeat sequences.

Rl o S <R S A -
1) gﬁwﬁrwﬁwaaﬁﬁaaﬂwﬁm

@) FENNS T ¥ S 9 R TR g
() s e g

(@) eSS gwed v S, Sfoefi St WA 9 g g ge

223/ LIFESCLA] 17 (UEIMERE 1Coned.-
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| 31 The worm that causes filariasis/elephantiasis in humans is -

(1) Ascaris lumbricoides (2) Ancylostoma deodonale

(3) Wuchereria brancofti (4)  Enterobuis vermicularis

A F Rt hi=uig sas w9 aen 5H § —
() wweRe oiwigrsa Q) TR fSsiekier

@)  FHRT F=lers @) TfarE R
32 A specimen used by an author or designated as the ‘nomenclature type' is
called —
(1) -Holotype (2) Isotype
(3) Paratype (4) Neotypé_
T AEE g T 7 faw swmn ‘S & we' fafed fru o wfaeed @0
w7 T —
() Ry (2) EEHEREY
(3) TR - @ PR

33 Ascaris is —

(1) acoelomate o (2) pseudocoelomate
(3) schizocoelic coelomate {4) enterocoelic coelomate
- TERiE ¥

(1) sReEEa 2) FTRTRA
(3) S JFEE 4) TAREE

223/ LIFESCL A 18 AN (Conta..
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34 A rare species IS —

(1) a small population that is not at present endangered or vulnerable, but

are at risk.

(2) Taxa likely to move into endangered category in future if the causal

features continue operating.
(3) Taxa in danger of extinction:

~(4) Taxa which were fomierly vulnerable but which are now considered

secure because of effective conservation

foer w1fa o8 & —

(1) 9 e el anty S oA § e stean s T e g
o e @ |

@) ¥ i R gumia w0 O S Al o @ @A afae § deer
Foit ¥ v T YR € |

@) S wi® foge & W § |

(4) Wﬁmaﬁmémmuwmw%w@m%p

35 The phosphorus cycle is unusnal because it is entirely :
(ll) Within aquatic ecosystems :(2)"‘ Within terrestrial ecosystems
(3) Sedimentary . (4) Gaseous
wheITy 9% St S 8, wifF I8 quies 2 ¢ —
(1) <o afifefe s fw (2) sl il S fw

(3) amm"r (@) A

223/ LIRBSCLA 19 MO (Conce-



36

Consider the following statements :

(A) Woodlands are ecosystems in which the crowns of trees form a

continuous canopy.

(B) Shrublands are ecosystems in which shrubs form a fairly continuous

canopy several meter above ground

(C) Scrublands are ecosystems in which grasses and forbs form a continuous

canopy

Which of the above statement is/are true ?

(1) (A) only (@ (B) only

@ @Wand© @ (®)and (©
Frafafen wo W fawr it

(A) SRwEqH 3 wiftiediae 81 ¢, for el & fret firemt o fe
g™ 9 T | '

(B) &9 i 9 ufifertaas 30 € o gu firem {ﬁﬂﬁg%aﬁﬁa
3R W U PR faare o ¥

(€) Ty & wiitferfiss o o €, Fovnl o 9 qokr Tt o R
faam = 2 |

S7 Tl § ¥ F Y v w2
(1) et (A) @) 397 (B)

G A=) “ B)F(©)

3/ LIFESCLA) 20 (ARG -~ [Conea-..
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37  Acid precipitation kilis fish by causing the reiease of —
(1) Aluminium ions
(2) Carbon-mono-oxide
(3) Anticoagulants

4) Mercury

aTetty TOA g Weferdl F g A T

(D Qﬂmﬁwm%wﬁﬁ%m
(2) AR STeERS & T A F HRA
(3) vitehasmi ® TF B B B

(4) I & TaE TN D FA

38 Small parks tend to support only —
(1) K-selected species
..(.2) r-selected species
(3) Clﬁﬁax species .
(4) Species with small niches .
oY F Ft WaR Wewed e Ht §, dad —
(1) K - wfm wnfaal =t ..
(@) r-=af@ wenfad =t
(3) T yafaE

(4) = Fada aret wsufaE w0
23 /UFESCLAL 2 ALY TComto-.
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39  The ‘neutral theory of molecular evolution' states that —

(1) most molecular differences are neutral and genetic drift acts on neutral

alleles and leads to evolution.

(2) Multiplication of individuals and availability of limited resources, would

lead to struggle for existance, natural selection and survival of fittest.

(3) The acquired characters which become incorporated in the genotype
are heritable and, accumulating generation after generation, lead to

evolution.

(4) Environment influences the morphological characters and these changes

are inherited to next generation.

oty fara & gt fasi’ Wl H ¥ =

(1) mmwmaﬁ%wwﬁmwmmw
fumfedt W fRar T Safasrd F € ) |

@) S o e e # S S, s 3 G, e
W@Wﬁéﬂﬁtﬁmaﬁaﬂtmm‘%l

(3) wﬁaawﬁaﬁq—mmﬁwrﬁﬁaaﬁ%,ﬂaﬁﬁﬁ@%%w%
o O e St S HW € |

@) e ST O B G RS & a3 R @ el Wl
3 gamif SRl ¥ |
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40 Match the Periods with Eras :

Periqu Eras
"(A) Quartornary, Tertiary () Mesozoic
(B) Crétaceous, Jurrasic, Triassic (i) Palacozoic
- (C) Permian, Carboniferous, Devonian, (iit) Caenozoic
Silurian, Ordovician, Cambrian
® ®) ©
FORRG I (ii)
@ 6 (ii) (iif)
@ G ) )
@G @) (i)
HATUHIE nﬁﬁﬁm ¥ e wifsg
srafiree HETHTT
() e, < i
®) frfem, few geafes () s
(C) wiitgs, wei-iey, feaifad, (i) s
w ®  ©
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@ 0 (ii) (i)
®) (i) (i) @
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41 What is true about ‘'molecular clock' ?
(1) 1t shows the position of molecules of protein
(2) It shows the origin of a group of organisms
(3) It moves at different rate for different proteins

(4) Tt moves at constant rate for different proteins
;Wﬂ%ﬁﬁ T2 @ T A e e § 2

() I% e swel W Rerfs i ¥

@) S T % g i

() g ol W & fore et & i o &

@) e v NN & fon wEe w i w5 R

42 Sympatric speciation occurs among organisms due to —
(1). Geographical separation
(2) Living together
(3) Origin from a common ancestot
(4) Mutations
<l & wreenfE it SeEe i & ¥ -
(1) WRiIfe® gyashon & S | |
(2) TFWAEA Y
(3) wHF W | I F B0

(4) i@ & HL
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43 Miatch the markers used in Marker Assisted Selection (MAS) with their

examples :
Markers Examples
(A) Morphological markers (i) Grain colour
(B) Biochemical markers (i) DNA sequencing
(C) Cytological markers ' (iii) isozyme, storage protein
(D) Molecular markers | (iv) G-Banding .

(A) ®) © D)

O ® (i) (ii) @v)
@ O (iit) (iV)._ (i)
G) @) Gy @ @)

@ @) @ (iit) )

e aeT aeE (W T ) # WE fHed # I Ree ¥ e
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fomen ESita)
(A) ST EF @) W W
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44 Match the organ

phytoextraction :

Organisms
(A) Helianthus annuus (sunflower)
®) Salix viminalis (Willow)
(C) Brassica juncea (Mustad)
(D) Beta vulgaris

&) (B) ©
o O @ G
@ (i) (i) (i)
3y (v (i) @)
@ (i) @) (iv)

(Y
(i)
(iii)

.sms with the pollutants which are removed by them by

Pollutants |
Arsenic
Cad_mium
Lead

Salt

(iv)
D)
(iv)
®

(i)
(iit)
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45 Which set of statements is correct with regard to Biosensors ?

(A) These detect and measure sugars, proteins and hormones in human
body'

(B) These detect pollutants in abiotic components of environment
(C) These detect toxins in industrial effluents

(D) These estimate haemoglobin in blood

O @, ®), O

2 (A),®B), ().

¢ ®),©). 0

@ (A), (B), (D)
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46 Ethanol is generally produced by fermentation with the help of —

(1) Saccharomyces cerevisiae
(2) Escherichia ' coli

(3) Streptococcus thermophilus
(4) Lactobacillus delbrueckii
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47  The resolving power of an electron microscope is how many times greater

than the resolving power of a light microscope.

(1) Ten times
(2) One hundred times
(3) One thousand times

(4) One million times
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48 The biological function of Restriction endonucleases is :
(1) Helping bacteria invade other organisms
(2) Protecting bacteria from foreign DNAs such as viral DNAs |
(3) To restrict effect of antibiotics in bacteria
(4) Help bacteria in conjugation
Yewa weRgfaemes 1 SHfaw ®[@ ¢ :
(1) e @ o A T s e ¥ T b
@) fooea . @ g 3 F ey A ¥ chergel 3w s
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49 Which of the following technique is used to detect nucleic acid sequences

present in intact cells ?
(1) Sanger's technique (2) Southern blotting
(3) Northern blotting {4)° FISH

frerfafon § ¥ frd qoics w1 STEN 18 SitvERl | Seitud s o
STl T w9 T © 2
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50 The X-ray crystallography studies of Rosalind Franklin and Maurice H.F.
Wilkins showed that :

(1) DNA contains only four kinds of nucleotides

(2) DNA is a helix of unifoﬁn diameter

(3) The amount of adenine found in DNA quua]s the amount of thymine
(4) The game base—p#iring rules apply to all species.
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